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Subdivisions, T, 2.N., R. 36 E.

Chains
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" Ascend S. slope of rldge.

Leave timber and pass through dense undergrowth, bears
N.30° E,, S. 60° W.

Leave undergrowth, bears E. and W.

Summit of ridge, 300 ft. above creel, bears E, and W.

Descend steép N. slope.

Enter dense undergrowth, bears E. and W. Very seattering
timber.

Set basalt stone, 20 x 15 x5 ins., 15 ins. in the ground
for cor. of secs. 2, 3, 10 and 11, masrked with 2
notches on E. and 5 notchea on 8. edges, from which

A fir, 10 ins. in diém., bearas W, 182 E., 23 1lks.
dist., marked T. 2 N., R.36 E., S.2, B.T.
No other trees in limlta. Raise mound of stone, 2 ft.
‘base, l%'Tfﬁ high, "W. of cor. Pits impracticabls,

Land, mountainous.

Soll, stony and gravelly, 4th and 3rd rate,.

Timber, pine, fir, alder and willow,

Undergrowth, willow, small firs, mountain laurel and
vine maple.

Mountainoua land, 80,00 chs.’

E. on random line bet. seecs. 2 and 1l.

Set temp. % sec. cor.

Intersect N. and S line 30 lika. S. of thke cor. of aeca.:
1, 2y 11 and 12. E

Thance, I run

S. 88° 49' W. on true line bet. sees. 2 and 11.

Ascend gradually, along steep N. slope of ridge, through
scattering timber and dense undergrowthi

Set basalt stone, 15 x 8 x 6 ins., 10 ins. in the ground
for § sec. cor., marked % on N, face, from which

A fir, 5 ins., bears N, 10° E., 11 1ks. dist.,
marked + S. 2, B. T.

A fir, 10 ins. in diam., bears S. 31° E., 23 lks.
dist., marked + 8., 11, B.T®
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